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FEIXBN A N I e K H A S B g, LBV HEE R g,y F BB H ZER F/ R
FIEANT 2.5 T3¢, MANGLE g, 220K :

maX{z.S, qimin} = qij < 9 max > Dimax 22.5
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8.2.2 BfReAH
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B % 4

NH: Hh-GEi o A B
& BEDH BEEE
0 T (1) 1-12 B 0 253478.979
1 [liif=va 1-12 8 1 247835.052
2 (1) 6H-12H, 1-48 2 244344960
3 PNEE 1-58 3 172684.962
4 AR 1-12 8 4 143194.149
5 SEF (8 9-128, 1-58 5 140364.000
6 AR () 8-12H, 1-58 6 128925.000
7 BT (2) 1-12 B 7 122418.009
8 PEIRAGE (1) 8-12H, 18 8 107282.043
9 ANKAL () 8H-12H, 1-58 9  97497.000
10 LM 1-12 8 10 92748.276
11 VIR OFF ) 8-128, 18 11 87328.125
12 e 10-128, 1-58 12 80838.000
13 RIS () 9-128, 1-58 13 79632.000
14 H L 1-12 8 14 75544.074
15 WRZZH (f3) 9-12H, 1-58 15 74115.000
16 S (2) 5-98 16 71891.910
17 IR 22 1-98 17 70129.629
18 g 5-9H 18 68460.804
19 T3 5-98 19 65166.876
20 WESE () 9-12 B 20 97034.000
21 I TEIPNEES 108-12H, 18 21 90786.304
22 W () 9-12H 22 88788.000
23 VLTSI RE () 9-12H, 1-5R8 23 84728.000
24 FTL M 8-12H, 1-28 24 81501.994
25 LUISP2 8-10 B 25 81428312
26 i 9-128, 1-28 26 73030454
27 NG () 9-12H, 1-58 27 72450.000
28 ZLER 4-9 8 28 72232.062
29 hi S 3-88 29 71400.854
30 [RARARE A 1-38 30 69474.356
31 LA (1) 8-128, 1-58 31 65764.580
32 LSES 8-10 A 32 65593.654
33 AT 8-9H 33 62954.038
34 AT (£ 1-78H 34 59206.000
35 T 6 9-12H, 18 35 57542.268
36 NS () 8-12H, 18 36 56798.000
37 ER=piibd 9-128, 18 37 53711.924
38 BT (1) 6-8 B 38 49234.682
39 ZIA (1) 2-38 39 48410.250
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import pandas as pd
import numpy as np
from datetime import datetime, timedelta

from statsmodels.tsa.seasonal import seasonal_decompose
import matplotlib.pyplot as plt

import seaborn as sns

from matplotlib.font_manager import FontProperties
import warnings

warnings.filterwarnings('ignore")

WoONOUVTAWNER

11. # Set up Seaborn style

12. sns.set(style="darkgrid")

13. # Set font style

14. font_propl = FontProperties(fname="C:\Windows\Fonts\simsun.ttc") # KM
15. font_prop2 = FontProperties(fname="C:\Windows\Fonts\simkai.ttf") # /#/4
16. Efont_prop = FontProperties(fname="C:\Windows\Fonts\ARLRDBD.TTF")

17. 1label_prop = FontProperties(family="serif', size=9, weight='normal')

18. legend_font = FontProperties(family='serif', size=7, weight='normal")

19. plt.rcParams['axes.unicode_minus'] = False

20. # import dataset

21. names = pd.read_excel("data\ff{{} 1.x1sx")

22. print(names.head())

24. data = pd.read_excel("data\Ffff 2.x1sx")
25. print(data.head())
26. def WeekSplit(starttime, endtime):

27. starttime = datetime.strptime(starttime, "%Y-%m-%d")

28. endtime = datetime.strptime(endtime, "%Y-%m-%d")

29. interval = timedelta(days=7)

30. current_time = starttime

31. time_periods = []

32.

33. while current_time <= endtime:

34. end_of_period = current_time + interval - timedelta(days=1)
35. time_periods.append((current_time.strftime("%Y-%m-%d"), end_of_period.strftime("%Y-%m-%d")))
36. current_time += interval

37.

38. return time_periods

39. # weekdata

40. data["#EHW"] = pd.to_datetime(data[ "4 HEI"])

41. months = [31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31]

42. Results = np.zeros((3, 12, 250, 2)) # year, month, kind, salesdata
43. Periods = WeekSplit("2020-07-01", "2023-06-30")

44. A, B, C, D, E, F = [],- []: []: [], []: []
45. for i in range(len(Periods)):

46. starttime = Periods[i][0]

47. endtime = Periods[i][1]

48. index = np.array((data["#5H#"] <= endtime) & (data["#HEHI"] >= starttime))
49. TD = data.iloc[index, :]

50. a, b, ¢c,d, e, f=9, 0, 0, 9, 0, 0

51. for v in range(len(TD[" ¥ & 4if"1)):

52. index2 = np.array(names[" ¥ fZ@i4"] == TD.iloc[v, 2])
533, if names.iloc[index2, 2].values == 1011010101:
54. a += TD.iloc[v, 3]

55, elif names.iloc[index2, 2].values == 1011010201:
56. b += TD.iloc[v, 3]

57. elif names.iloc[index2, 2].values == 1011010402:
58. c += TD.iloc[v, 3]

59. elif names.iloc[index2, 2].values == 1011010501:
60. d += TD.iloc[v, 3]

61. elif names.iloc[index2, 2].values == 1011010504:
62. e += TD.iloc[v, 3]

63. elif names.iloc[index2, 2].values == 1011010801:
64. f += TD.iloc[v, 3]

65. A.append(a)

66. B.append(b)

67. C.append(c)

68. D.append(d)

69. E.append(e)

70. F.append(f)

71.

72.

73. Time = pd.to_datetime([u[@] for u in Periods])
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74. A, B, C, D, E, F = np.array(A), np.array(B), np.array(C), np.array(D), np.array(E), np.array(F)

76. WDF = pd.DataFrame({"[[i]":Time.values, "fEMHJ5" 1A, "TE5E "B,

77. "IKAEMRZESE" :C, "k D,
78. TERE E, " FY)

79. WDF.to_excel("data/44FJH4 =4l . x1sx", index=False)
80. WDF = WDF.set_index("ff[H]")
81. print(WDF.head())

83. # day data

84. data["#i5 "] = pd.to_datetime(data["#it5 1" ])

85. months = [31, 28, 31, 36, 31, 30, 31, 31, 30, 31, 30, 31]

86. Results = np.zeros((3, 12, 250, 2)) # year, month, kind, salesdata
87. uv = data["#EHHI"].unique()

88. A, B, ¢, D, E, F =11, [1, [1, [1, [1, []

89. for i in range(len(uv)):

90. TD = data.iloc[np.array(data["#HEH"] == uv[i]), :]
91. a, b, ¢c,d, e, f=9, 0, 0, 0, 0, 0

92. for v in range(len(TD["# &4if%"1)):

93. index2 = np.array(names["H i 4wl5"] == TD.iloc[v, 2])
94. if names.iloc[index2, 2].values == 1011010101:
95. a += TD.iloc[v, 3]

96. elif names.iloc[index2, 2].values == 1011010201:
97. b += TD.iloc[v, 3]

98. elif names.iloc[index2, 2].values == 1011010402:
99. c += TD.iloc[v, 3]

100. elif names.iloc[index2, 2].values == 1011010501:
1e1. d += TD.iloc[v, 3]

102. elif names.iloc[index2, 2].values == 1011010504:
103. e += TD.iloc[v, 3]

104. elif names.iloc[index2, 2].values == 1011010801:
105. f += TD.iloc[v, 3]

106. A.append(a)

107. B.append(b)

108 C.append(c)

109. D.append(d)

110. E.append(e)

111. F.append(f)

112.

113. print(np.array(A))

114. Time = pd.to_datetime(uv)

115.A, B, C, D, E, F = np.array(A), np.array(B), np.array(C), np.array(D), np.array(E), np.array(F)
116.D20 = (Time <= "2020-12-31") | (Time >= "2623-01-01")
117.D21 = (Time <= "2021-12-31") & (Time >= "2021-01-01")
118.D22 = (Time <= "2022-12-31") & (Time >= "2022-01-01")

119. DF = pd.DataFrame({"/f[fi":Time.values, "{EH2" A, "fE "B,
120. "KAERRZES" 1 C, AR 1D,

121. "EEE B, T FY)

122. DF.to_excel("data/4=4F 85445 . x1sx", index=False)

123.DF = DF.set_index("I[a]")

124. print(DF)

125. kind = "7EM2E"

126. DDF = DF.copy()

127. Season = np.zeros((7, 6))

128. for i in range(6):

129. result_mul = seasonal_decompose(DDF.iloc[:, i],

130. model="addictive"',

131. period=7,

132. extrapolate_trend='freq')
133. Season[:, i] = result_mul.seasonal[:7]

134.DF = pd.DataFrame(Season)

135. DF.to_excel("data/Z= 1i1E 44l . x1sx", index=False)

136.

137. plt.rcParams.update({'figure.figsize': (10, 10), 'figure.dpi': 600})
138.

139. plt.figure(figsize=(10, 8), dpi=600)

140. plt.subplot(611)

141. plt.plot(result_mul.observed, color='#0081CF")

142. plt.ylabel('Observed', fontproperties=label_prop, fontsize=9)
143. plt.yticks(fontproperties=Efont_prop, fontsize=7)

144. plt.xticks(fontproperties=Efont_prop, fontsize=7)

145. plt.gca().set_xticklabels([])

146.

147. plt.subplot(612)

148. plt.plot(result_mul.trend, color="#008E9B")

149. plt.yticks(fontproperties=Efont_prop, fontsize=7)

150. plt.xticks(fontproperties=Efont_prop, fontsize=7)
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151. plt.ylabel('Trend', fontproperties=label_prop, fontsize=9)
152. plt.gca().set_xticklabels([])

153.

154. plt.subplot(613)

155. plt.plot(result_mul.seasonal, color="#845EC2")

156. plt.yticks(fontproperties=Efont_prop, fontsize=7)

157. plt.xticks(fontproperties=Efont_prop, fontsize=7)

158. plt.ylabel('Seasonal', fontproperties=label_prop, fontsize=9)
159. plt.gca().set_xticklabels([])

160.

161. plt.subplot(614)

162. plt.plot(result_mul.resid, color='#FF9671")

163. plt.yticks(fontproperties=Efont_prop, fontsize=7)

164. plt.xticks(fontproperties=Efont_prop, fontsize=7)

165. plt.ylabel('Residual’, fontproperties=label prop, fontsize=9)
166.

167. plt.subplot(616)

168. plt.plot(result_mul.seasonal[:7], color="#FF9671")

169. plt.yticks(fontproperties=Efont_prop, fontsize=7)

170. plt.xticks(fontproperties=Efont_prop, fontsize=7)

171. plt.ylabel('Single Trend', fontproperties=label_prop, fontsize=9)
172. import pandas as pd

173. import math

174.

175. class CorrelationMeasurement():

176. coTHR = 0.8

177.

178. # def __init__(self):

179. # self.coTHR = 0.8

180.

181. def __init_ (self, *args):

182. if len(args) == 1:

183. self.coTHR = args

184. else:

185. self.coTHR = 0.8

186. def normalize(self, x):

187. X = (x - np.mean(x))/np.std(x)
188. return x

189. def amplification(self, a, b, x):

190. temp_result = []

191. for v in x:

192. if v >= 0:

193. temp = math.pow(math.exp(1), a * min(v, b)) - 1
194. temp_result.append(temp)
195. else:

196. temp = -math.pow(math.exp(1), a * min(-v, b)) + 1
197. temp_result.append(temp)
198. result = pd.Series(temp_result)
199. return result

200.

201. def R(self, Gs, H):

202. summ = @

203. for index in range(len(Gs)):

204. summ += Gs[index] * H[index]
205. return summ

206.

207. def CC(self, G, H, Gs):

208. T =self.R(Gs, H) / math.sqrt(self.R(G, G) * self.R(H, H))
209. return T

210.

211. def FCC(self, afx, afy):

212. maxCC = @

28 minCC = @

214. sl =20

215. s2 =0

216. 1 = len(afx)

217. s =20

218. for i in range(-s, s + 1):

219. Gs = [0] * 1

220. if i < o:

221. for j in range(l - abs(i)):
222. Gs[j] = afx[j - i]
223. else:

224. for j in range(l - abs(i)):
225. Gs[j + i] = afx[]j]
226.

227. tempcc = self.CC(afx, afy, Gs)
228. temparg = i

229. if tempcc > maxCC:
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230.
231.
232.
233.
234.

236.
237.
238.
239.
240.
241.
242.
243.
244.
245.
246.

247.
248.
249.
250.
251.
252.
253.
254,
2335
256.
257.
258.
259.
260.
261.
262.
263.
264.
265.
266.
267.
268.
269.
270.
271.
272.
273.
274.
275.
276.
277.
278.
279.
280.
281.
282.
. afx_set = DF.iloc[:, 3]
284.
285.
286.
287.
288.
289.
290.
291.
292.
293.
294.
295.
296.
297.
298.
299.
300.
301.
302.
303.
304.
305.
306.
307.

283

maxCC = tempcc
s2 = temparg
if tempcc < minCC:
minCC = tempcc
sl = temparg
|235.
if abs(maxCC) < abs(minCC):
return minCC, si1
else:
return maxCC, s2

def correlation_measurement(self, afx_set, afy_set):
afx_set, afy_set = self.normalize(afx_set), self.normalize(afy_set)
result_set = []
for afx in afx_set:
for afy in afy_set:
result_set.append(self.FCC(self.amplification(1l, 20, afx), self.amplification(1, 20, a
fy)))

maxv = 0

minv = @

for result in result_set:
maxv = max(maxv, result[O])
minv = min(minv, result[@])

if abs(maxv) > abs(minv):

ccV, shiftV = max(result_set)
else:

ccV, shiftV = min(result_set)
print(ccV)
print(shiftVv)
if abs(ccV) >= self.coTHR:

if shiftv ==
if ccV >= 0:
print('x<-+->y")
else:
print('x<--->y")
elif shiftv < o:

if ccV >= 0:
print('x-+->y")
else:
print('x--->y")
else:
if ccV >= 0:
print('x<-+-y")
else:
print('x<---y")
else:
print('x=|[=y")
return 0

afx_set = [afx_set.values.tolist()]
for item in [1, 2, 3, 4, 5]:
cm = CorrelationMeasurement()
afy_set = [DF.iloc[:, item].values.tolist()]
cm.correlation_measurement(afx_set=afx_set, afy_set=afy_set)
def RValue(x, y):
def amplification(a, b, x):
temp_result = []
for v in x:
if v >= 0:
temp = math.pow(math.exp(1), a * min(v, b)) - 1
temp_result.append(temp)
else:
temp = -math.pow(math.exp(1), a * min(-v, b)) + 1
temp_result.append(temp)
result = pd.Series(temp_result)
return result
def normalize(x):
x = (x - np.mean(x))/np.std(x)
return x
def R(G, H):
summ = @
for index in range(len(G)):
summ += G[index] * H[index]
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308. return summ

309.

310. def CC(G, H):

311. T = R(G, H) / math.sqrt(R(G, G) * R(H, H))

312. return T

313. return CC(amplification(1, 20, normalize(x)), amplification(1l, 20, normalize(y)))

314.R = np.zeros((5, 5))

315. for i in range(5):

316. for j in range(5):

317. R[i, j] = Rvalue(DF.iloc[:, i], DF.iloc[:, j])

318. print(R)

319. Ndata = pd.read_excel("data/Hi i H - Ji - H A . x1sx", sheet_name="Sheet1")
320. print(Ndata.shape)

321. print(Ndata.head())

322. Tsum = Ndata.iloc[:, 1:].sum(1)

323. Ndata["&F1"] = Tsum

324. sort_Ndata = Ndata.sort_values(by="/4fl1", ascending=False).reset_index(drop=True)
325.

326. plt.figure(figsize=(30, 70), dpi=600)

327. colors = ["#0081CF", "#2C73D2","#B39CDO", "#FF8066", "#4E8397", "#00C2A8"]
328. Labels = ['KFIZE", "WUA4E", "iRH(1) ", ST (2) ", FEMIEM(L) T, e (&) ]
329. Num = 40

330. for i in range(20, Num):

331. DDF = pd.DataFrame({"fif[i]": Time.values, str(i): sort_Ndata.iloc[i, 1:-1]})
332. DDF = DDF.set_index("I[a]")

333. result_mul = seasonal_decompose(DDF[str(i)],

334. model="addictive"',

335. period=30,

336. extrapolate_trend='freq')

BEY

338. plt.subplot(Num,1, i+1)

339. #sns.kdeplot(result_mul.trend.values, shade=True, color=colors[i])

340. plt.plot(result_mul.trend, color="#0081CF")

341. plt.fill between(result_mul.trend.index,result_mul.trend, color="#0081CF", alpha=0.5)
342. plt.ylabel(sort_Ndata.iloc[i, @], fontproperties=font_propl, fontsize=20)
343. plt.yticks(fontproperties=Efont_prop, fontsize=15)

344, plt.xticks(fontproperties=Efont_prop, fontsize=15)

345. if i < Num-1:

346. plt.gca().set_xticklabels([])

347. plt.savefig('1l.4.png', dpi=600)
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1. #!/usr/bin/env python

2. # coding: utf-8

BE

4. # In[977]:

5o

6.

7. # import dataset

8. names = pd.read_excel("data\[fff} 1.x1sx")
9. print(names.head())

10.

11. data = pd.read_excel("data\[f{f} 2.x1sx")
12. print(data.head())

14. prices = pd.read_excel("data\[ff{f 3.x1sx")
15. print(prices.head())

18. # In[1046]:

21. import pandas as pd

22. import numpy as np

23. from datetime import datetime, timedelta

24. from statsmodels.tsa.seasonal import seasonal_decompose
25. import matplotlib.pyplot as plt

26. import seaborn as sns

27. from matplotlib.font_manager import FontProperties

28. import warnings

29. warnings.filterwarnings('ignore")

31. # Set up Seaborn style

32. sns.set(style="darkgrid")

33. # Set font style

34. font_propl = FontProperties(fname="C:\Windows\Fonts\simsun.ttc", weight="bold")
35. font_prop2 = FontProperties(fname="C:\Windows\Fonts\simkai.ttf", weight="'bold")
36. Efont_prop = FontProperties(fname="C:\Windows\Fonts\ARLRDBD.TTF", weight="bold")
37. label_prop = FontProperties(family='serif', size=9, weight='normal")

38. legend_font = FontProperties(family='serif', size=6, weight='normal")

39. plt.rcParams['axes.unicode_minus'] = False

42, # In[978]:

A5, # FRIREE S5 BHHNIHR O

46. prices["HM]"] = pd.to_datetime(prices["H]"])
47. uv = prices["H]"].unique()

48. uv = uv.astype('datetime64[D]")

49. DPrices = {}

50. for i in range(len(uv)):

51. TD = prices.iloc[np.array(prices[" "] == uv[i]), :]

52. DPrices[str(uv[i])] = {}

53. cards = TD["H.5h%if%" ] . unique()

54. for j in range(len(cards)):

55. DPrices[str(uv[i])][cards[j]] = TD.iloc[np.array(TD["H & %f%"] == cards[j]), 2].mean()
56. print(DPrices["2020-087-01"])

57.

58. data["#H "] = pd.to_datetime(data[ "f4# 111" ])
59. uv = data["#&HH"].unique()

60. uv = uv.astype('datetime64[D]")

61. DSales = {}

62. for i in range(len(uv)):

63. TD = data.iloc[np.array(data["#EHH"] == uv[i]), :]

64. DSales[str(uv[i])] = {}

65. cards = TD[ " 405" ] . unique()

66. for j in range(len(cards)):

67. DSales[str(uv[i])][cards[j]] = TD.iloc[np.array(TD["H. {:4ifi%"] == cards[j]), 4].mean()
68. print(DSales["2020-07-01"])

69.

70.

71. # In[979]:

72.
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107.
108.
109.
110.
111.
112.
113.
114.
115.
116.
117.
118.

120.
121.
. SalesD = pd.read_excel("data/44 H A5 . x1sx")
123.
124.
125.
126.
127.
128.
129.

122

130

133

# KINAE T 5T HHINO B
uv = data["# H 41" ].unique()
v = uv.astype('datetime64[D]")
, B, G, D, E, F=11, [1, [1, [1, [1, []
or i in range(len(uv)):
TD = data.iloc[np.array(data["#HH"] == uv[i]), :]
a, b, ¢c,d, e, f=9, 0, 0, 9, 0, 0
sa, sb, sc, sd, se, sf =0, 0, 0, 9, 0, @
for v in range(len(TD[" 5 4mf5" 1)) :
index2 = np.array(names["H i 4wl5"] == TD.iloc[v, 2])
rate = (TD.iloc[v, 4] - DPrices[str(uv[i])][TD.iloc[v, 2]])/DPrices[str(uv[i])][TD.iloc[v, 21]
if names.iloc[index2, 2].values == 1011010101:
a += TD.iloc[v, 3]*rate
sa += TD.iloc[v, 3]
elif names.iloc[index2, 2].values == 1011010201:
b += TD.iloc[v, 3]*rate
sb += TD.iloc[v, 3]
elif names.iloc[index2, 2].values == 1011010402:
c += TD.iloc[v, 3]*rate
sc += TD.iloc[v, 3]
elif names.iloc[index2, 2].values == 1011010501:
d += TD.iloc[v, 3]*rate
sd += TD.iloc[v, 3]
elif names.iloc[index2, 2].values == 1011010504:
e += TD.iloc[v, 3]*rate
se += TD.iloc[v, 3]
elif names.iloc[index2, 2].values == 1011010801:
f += TD.iloc[v, 3]*rate
sf += TD.iloc[v, 3]

u
A
£

A.append(@) if sa == @ else A.append(a/sa)
B.append(0) if sb == 0 else B.append(b/sb)
C.append(@) if sc == @ else C.append(c/sc)
D.append(@) if sd == @ else D.append(d/sd)
E.append(@) if se == @ else E.append(e/se)
F.append(@) if sf == 0@ else F.append(f/sf)

print(np.array(A))

# In[982]:

# GAHH

A, B, C, D, E, F = np.array(A), np.array(B), np.array(C), np.array(D), np.array(E), np.array(F)

DF = pd.DataFrame({"{EI 25" A, "f£2EK":B,

"KAEMZE" ., "D,
"HAET B, " FY)
DF.to_excel("data/H i L%l . x1sx", index=False)

print(SalesD.shape)

# In[1058]:

from sklearn.metrics import mean_squared_error, r2_score

. from sklearn.linear_model import LinearRegression
131.
132.

# TN TR

. def Regression(sA, salesA, season):
134.
135.
136.
137.
138.
139.
140.
141.
142.
143.
144.
145.
146.
147.
148.
149.
150.

plt.figure(figsize=(10, 8), dpi=600)

plt.subplot(311)

plt.plot(sA, color='#0081CF")

plt.title('Observed', fontproperties=label_prop, fontsize=10)
plt.yticks(fontproperties=Efont_prop, fontsize=7)
plt.xticks(fontproperties=Efont_prop, fontsize=7)

plt.subplot(312)

plt.plot(salesA, color="#@08E9B")
plt.yticks(fontproperties=Efont_prop, fontsize=7)
plt.xticks(fontproperties=Efont_prop, fontsize=7)
plt.ylabel('Trend', fontproperties=label_prop, fontsize=9)

plt.subplot(313)

plt.plot(season, color="#008E9B")
plt.yticks(fontproperties=Efont_prop, fontsize=7)
plt.xticks(fontproperties=Efont_prop, fontsize=7)
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151. plt.ylabel('Trend', fontproperties=label_prop, fontsize=9)

152.

153. x = pd.DataFrame({"&AIIMLILE": sA, "ZFE{i/ri": season})
154. y = np.array(salesA)

155.

156. model = LinearRegression()

157. model.fit(np.array(x), y)

158. y_pred = model.predict(x)

159.

160. mse = mean_squared_error(y, y_pred)
161. r2 = r2_score(y, y_pred)

162.

163. print("¥7i%%E (MSE):", mse)

164. print("R"2 73E0 (UEHERTE) ", r2)
165.

166. coefficients = model.coef_

167. coefficients = np.append(coefficients, model.intercept_ )
168.

169. print("FEIHRE. #FE:", coefficients)
170.

171. return coefficients

172.

173.Num = 7

174. Season = pd.read_excel("data/Z= i 4 . x1sx")
175. print(Season.head())

176. SalesRestD = np.zeros((1085, 6))

177. Coff = np.zeros((6, 3))

178. sA = np.zeros((6, 7))

179. for i in range(6):

180. sA[i, :] = np.array(DF.iloc[:, i]).reshape((-1, Num)).mean(®)

181. salesA = np.array(SalesD.iloc[1:, i+1]).reshape((-1, Num)).mean(®)
182. Coff[i, :] = Regression(sA[i, :], salesA, Season.iloc[:, i])

183. SalesRest = np.array(SalesD.iloc[1:, i+1]).reshape(-1, Num)

184. SalesRest -= salesA

185. SalesRestD[:, i] = np.array(SalesRest.reshape((-1, 1)))[:, 0]

186.

187. Data = pd.DataFrame(SalesRestD)
188. Data["H[[i]"] = SalesD["Hf[a]"]

189. Data = Data.set_index("Hf[A]")
190. Data.to_excel("data/P2 %i#li.x1sx")

[101.
192.
193. # In[986]:
194.
195.

196. print(SalesRestD)

197. Data = pd.DataFrame(SalesRestD)

198. Data["IFf[i]"] = SalesD["Hf[i]"]

199. Data = Data.set_index (" [f]")

200. Data.to_excel("data/FaML 4 =54 . x1sx")

201. print(SalesD.head())

202. print(SalesD.iloc[-14:, 1:].mean())

203.

204.

205. # In[987]:

206.

207.

208.SD = np.array(SalesD.iloc[:, 1:])

209. LinearPredict = np.zeros((7, 6))

210. PriceRate = np.zeros((7, 6))

211. Daysum = np.zeros((7, 1))

212. Seven = pd.read_excel("data/7 A7iilll.x1sx", header=None)
213. Seven = np.array(Seven)

214. Prices = np.array([4.44645836396608, 5.77153576129882, 8.08550377155173, 5.68973684210526,

215. 7.69230883735510, 6.14664332470695])

216. SpendRate = np.array([11.1577000000000, 9.16800000000000, 9.44052631578948,6.75100000000000,
217. 8.00422222222222,8.29750000000000]) /100
218.

219.

220. # In[990]:

221.

222.

223. class Gene:

224.

225. # Set parameters for Genetic Algorithm

226. GENE_SIZE = 20

227. POP_SIZE = 200

228. CROSSOVER_RATE = 1
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229. MUTATION_RATE = 0.02

230. N_GENERATIONS = 200

231.

232. def __init_ (self, n, m, bounds):

233. self.n = n

234. self.m =m

235. # Set boundary

236. self.bounds = bounds

257 # save results

238. self.Cresults = np.zeros((N_GENERATIONS, 2))

239. self.BestPop = np.random.randint(2, size=(POP_SIZE, GENE_SIZE*self.m))

240.

241. def Correlation(self, SalesDay):

242. # A M) LA FEFCRR

243. alpha = 0.1

244, Delta = np.array((SD[-7:, :].mean(®) - SD[-14:, :].mean(@)) * alpha)

245, Influence = np.zeros((6, 1))

246. Relation = {"@": [[1], [0, 4, 5]], "1": [[e], [1]1],

247. "2": [[], [2, 4, 511, "3": [[], [2, 3, 5]],

248. "4": [[1, [e, 2, 411, "5": [[], [@, 2, 3, 5]1}

249. for i in range(6):

250. for u in Relation[str(i)][e]:

251. SalesDay[u] += Delta[i]

252. for u in Relation[str(i)][1]:

253. SalesDay[u] -= Delta[i]

254. return SalesDay

255.

256. def Fx(self, x):

257. P = 0.0539

258. beta = 0.5

259. LinearPredict[self.n, :] = x * Coff[:, @] + Coff[:, 1] * Season.iloc[self.n, :] + Coff[:, 2] +
Seven[self.n, :]

260. LinearPredict[self.n, :] = self.Correlation(LinearPredict[self.n, :])

261. LinearPredict[self.n, LinearPredict[self.n, :] < @] = 0@

262. Q1 = Prices*LinearPredict[self.n, :]*(1-SpendRate)*(x*(1-P)+((1+x)*beta-1)*P)

263. Q2 = Prices*LinearPredict[self.n, :]*SpendRate*((1+x)*beta-1)

264. return (Q1+Q2).sum()

265.

266. def TranslateDNA(self, pop):

267. FacDNA = np.zeros((POP_SIZE, self.m))

268. Gene_Size = GENE_SIZE

269. for i in range(POP_SIZE):

270. for j in range(self.m):

271. Temp = pop[i, j::self.m]

272. FacDNA[i, j] = Temp.dot(2**np.arange(Gene_Size)[::-1])/float(2**Gene_Size-
1)*(self.bounds[j, 1]-self.bounds[j, @])+self.bounds[j, @]

273. return FacDNA

274.

275. def Mutation(self, child, Mutation_Rate=0.003):

276. if np.random.rand() < Mutation_Rate:

277. mutate_point = np.random.randint(@, GENE_SIZE)

278. child[mutate_point] = child[mutate_point] ~ 1

279.

280. def CrossoverMutation(self, pop, Crossover_ Rate=0.8):

281. for father in pop:

282. child = father

283. if np.random.rand() < Crossover_Rate:

284. mother = pop[np.random.randint(POP_SIZE)]

285. cross_points = np.random.randint(low=0, high=GENE_SIZE*self.m)

286. child[cross_points:] = mother[cross_points:]

287. self.Mutation(child, MUTATION_RATE)

288. np.append(pop, child)

289. return pop

290. def GetFitness(self, pop):

291. x = self.TranslateDNA(pop)

292.

293. pred = np.zeros((len(x[:, ©]), 1))

294. for i in range(len(x[:, 0])):

295. pred[i] = Fx(x[i, :])

296. return (pred - np.min(pred)) + le-3

297. def SelectPop(self, pop, fitness):

298. idx = np.random.choice(np.arange(POP_SIZE), size=POP_SIZE, replace=True,

299. p=(fitness[:, ©]) / (fitness[:, @].sum()) )

300. return pop[idx]

301. def Print_Info(self, pop):

302. fitness = self.GetFitness(pop)

303. max_fitness_index = np.argmax(fitness)

304. x = self.TranslateDNA(pop)

305. PriceRate[self.n, :] = x[max_fitness_index, :]
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306. Daysum[self.n, :] = self.Fx(x[max_fitness_index, :])

307. return self.Cresults

308.

309. def Check_Info(self, pop):

310. fitness = self.GetFitness(pop)

311. max_fitness_index = np.argmax(fitness)

312. x = self.TranslateDNA(pop)

313.

314. return fitness[max_fitness_index], self.Fx(x[max_fitness_index, :])
315.

316. def GeneticAlgorithm(self):

317. pop = np.random.randint(2, size=(POP_SIZE, GENE_SIZE*self.m))
318. for i in range(N_GENERATIONS):

319. pop = np.array(self.CrossoverMutation(pop, CROSSOVER_RATE))
320. fitness = self.GetFitness(pop)

321. pop = self.SelectPop(pop, fitness)

322. self.Cresults[i, :] = self.Check_Info(pop)

323. self.BestPop = pop

324. return self.Print_Info(pop)

325.

326.

327. # In[1016]:

328.

81298

330. alpha = @
331. for i in range(7):

332. bounds = np.array([[1, u] for 1, u in zip(@.9*(1l+alpha)*sA[:, i], 1.1*(1+alpha)*sA[:, i])])
333. GPredict = Gene(i, 6, bounds)
334. Data = GPredict.GeneticAlgorithm()
335. plt.figure(figsize=(10, 8), dpi=600)
336. plt.subplot(211)
337. plt.plot(Data[:, @], color='#0081CF")
338. plt.title('Observed', fontproperties=label_prop, fontsize=10)
339. plt.yticks(fontproperties=Efont_prop, fontsize=7)
340. pltixticks(fontproperties:Efont_prop, fontsize=7)
341.
342, plt.subplot(212)
343. plt.plot(Data[:, 1], color='#0GO8E9B")
344. plt.yticks(fontproperties=Efont_prop, fontsize=7)
345, plt.xticks(fontproperties=Efont_prop, fontsize=7)
346. plt.ylabel('Trend', fontproperties=label_prop, fontsize=9)
347.
348.
349. # In[1017]:
350.
Iilo

352. print (" &AL FESEECRIE: ", Daysum.sum())
353. Names = ["fErt8", "qE3En, "KAEMRZER", HAE",

354. "HRHE", "]
355. for i in range(7):
356. print("% %d K, BAMEEAN: %.3F T, BFEN: %.3F T
" % (i+1, LinearPredict[i, :].sum(), Daysum[i]))
357. BRAfE( " =ssesssossscsasas % %d RAMEIR - - mm e "% (i+1))
358. for j in range(6):
359. print("<%s> e A=A %.3f Tw" % (Names[j], LinearPredict[i, j1))
360. PPANE (M= mmmm e m e e )
361. BRIfE( " ==sssssossscsasss 5 %d RIEM MG == - m oo o "% (i+1))
362. for j in range(6):
363. print("<%s> A HMEEM N %.3F" % (Names[j], PriceRate[i, j]))
364. PPNt (M- m e m e e ")
365. Kindsum = np.array(LinearPredict.sum(®))
366. print("----------------- 7H1H-7H7 B bR - - - - - oo - - ")
367. for i in range(6):
368. print("<%s> SEaEARMEANTE N %.3F T" % (Names[i], LinearPredict[:, i].sum()))
369. Print (M ----- = - m o oo oo )
370.
371.
372. # In[1066]:
373.
374.

375. # BRI RE/EHHr

376.DaySum[:, 3] = Daysum.reshape((7, ))

377. plt.figure(figsize=(8, 6), dpi=600)

378. plt.subplot(211)

379. for i in range(6):

380. plt.plot(DaySum[:, i], label=r'$\theta$="+str(i+5)+'%")

381. plt.yticks(fontproperties=Efont_prop, fontsize=7)

382. x_labels = ['July 1st', 'July 2nd', 'July 3rd', 'July 4th', 'July 5th', 'July 6th', 'July 7th']
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383.
384.
385.
386.
387.
388.
389.
390.

391

405

409

424
425.
. KnowD = KnowD.set_index (" ih4iis")
427.

426

428

436

445

449

plt.xticks(range(7), x_labels)
plt.xticks(fontproperties=Efont_prop, fontsize=7)
plt.legend(loc="upper right', fontsize=7, fancybox=True)

SM = (DaySum - DaySum.mean(1).reshape((7, 1)))/DaySum.mean(1).reshape((7, 1))
plt.subplot(212)
for i in range(6):

sns.kdeplot(SM[:, i], shade=True, label=r'$\theta$="+str(i+5)+'%")

.plt.ylabel("'")
392.
393.
394.
395.
396.
397.
398.
399.
400.
401.
402.
403.
404.

plt.xticks(fontproperties=Efont_prop, fontsize=7)
plt.yticks(fontproperties=Efont_prop, fontsize=7)
plt.legend(loc="upper right', fontsize=7, fancybox=True)
plt.savefig(' REZ 5 Hr.png’, dpi=600)

# In[1059]:

# = HIRAE

# import dataset

SpendRate = pd.read_excel("data/[f{f} 4.x1sx", sheet_name="Sheetl1")
SpendRate = SpendRate.set_index("#./i\ifd")

. print(SpendRate.head())
406.
407.
408.

R = pd.read_excel("data/r.xlsx", header=None)

Ndata = pd.read_excel("data/H. i H -J& - H##li . x1sx", sheet_name="Sheet1")

. print(Ndata.head())
410.
411.
412.
413.
414.
415.
416.
417.
418.
419.
420.
421.
422.

KonwD = Ndata.iloc[:, -7:]
# In[1060]:

# preprocess data
KnowD = KonwD.iloc[np.array(KonwD.sum(1) > @), :]
# B
KnowD[ " &4 "] = KnowD.sum(1)
KnowD[ "% #1£"] = KnowD.apply(np.std, axis=1)
KnowD[ "B£Zh14"] = np.array(R.sum(1))
KnowD[ "HEENPE"] = -1 + 2*(KnowD[ "HEZhPE"] - KnowD["IEEN1E"T.min()) / (KnowD["IEh1E"].max() - KnowD[ "Iz
P£"].min())

423.
KnowD[ "Ll 4" ] = Ndata.iloc[KnowD.index, @]
KnowD[ "HLj #F5"] = Ndata.iloc[KnowD.index, 1]

KnowD[ "#i#t#% "] = SpendRate.loc[KnowD.index, "#HiFE% (%)"]

. print(KnowD.head())
429.
430.
431.
432.
433,
434,
435.
. X = KnowD[ [ &4 &E", "aitE"]]
437.
438.
439,
440.
441,
442.
443,
444,

print("6 A 24 H-6 A 30 &R EEE: %d" % len(KnowD.index))

# In[1061]:

import scipy.cluster.hierarchy as sch

# I HAEE A

plt.figure(figsize=(8, 6), dpi=600)

dendrogram = sch.dendrogram(sch.linkage(X, method='ward'), labels=np.array(KnowD["#. /it Fi"]))
plt.title(" /AR EEMIRIE", fontproperties=font_propl)

plt.ylabel("Distance", fontproperties=Efont_prop)

plt.yticks(fontproperties=font_propl)

plt.xticks(fontproperties=font_propl, rotation=90, fontsize=6)

. plt.savefig(' i ZEMPIRIE . png’, dpi=600)
446.
447 .
448.

lamb = 0.65
scaler = StandardScaler()

.M = scaler.fit_transform(np.array(KnowD["&%ji"]).reshape(-1, 1))
450.
451.
452.
453.
454
455,
456.
457.

N = scaler.fit_transform(np.array(KnowD["J%5%"]).reshape(-1, 1))

Z = lamb * M - (1-lamb) * N + M * np.array(KnowD[ "FtZ)PE"]).reshape(-1, 1)
KnowD["Scores"] = (Z - Z.min()) / (Z.max() - Z.min())

Sort_KnowD = KnowD.sort_values(by="Scores", ascending=False)
print(Sort_KnowD.head())
Sort_KnowD.to_excel("data/Jd— kA . x1sx")
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458.
459.

460

. # In[1062]:

461.
462.

463

464.
465.
466.
467.
468.
469.
470.
471.

 H# KRE B mPRD
Sort_KnowD[ "#lt/4/i"] = np.zeros((49, 1))
for i in range(24, 31):
date = "2023-06-" + str(i)
for k, v in DPrices[date].items():
try:
Sort_KnowD.loc[int(k), "flt&H"] += v
except:
continue

472.

473.
474.
475.
476.
a77.
478.
479.
480.
481.
482.

Sort_KnowD["#t&1r"] = Sort_KnowD["#t&A"1/7
# BIREH b O
Sort_KnowD["#1/1"] = np.zeros((49, 1))
for i in range(24, 31):
date = "2023-06-" + str(i)
for k, v in DSales[date].items():
try:
Sort_KnowD.loc[int(k), "HEN"] += v
except:
continue

483.

484.

485

486.

487

488.

Sort_KnowD["#1/1"] = Sort_KnowD["&1/1"]/7

. Sort_KnowD["mA NN EE"] = (Sort_KnowD["&41"] - Sort_KnowD["ft& 1" ])/Sort_KnowD["HkA& "]
Sort_KnowD[ " iz KB4 #"] = Sort_KnowD.iloc[:, :6].max(1)

. Sort_KnowD.drop(Sort_KnowD[Sort_KnowD[ " K4ii"] < 2.5].index, inplace=True)
print(Sort_KnowD.head())

489.
490.

491.

# In[1063]:

492.
493,

494.

class GENE:

495,

496.
497.
498.
499.
500.
501.

# Set parameters for Genetic Algorithm
GENE_SIZE = 40 # Gene length

POP_SIZE = 200 # Population size
CROSSOVER_RATE = 1  # Crossover rate
MUTATION_RATE = 0.02 # Mutation rate
N_GENERATIONS = 200 # Maximum generations

502.

503.
504.
505.
506.
507.
508.
509.
510.
511.
512.
513.
514.
515.
516.
517.
518.
519.
520.
521.
522.
523.
524.
525.

def _ init_ (self, m, e):
self.m =m
# save results
self.Cresults = np.zeros((N_GENERATIONS, 2))
self.BestPop = np.random.randint(2, size=(POP_SIZE, GENE_SIZE*m))
self.A, self.B, self.C, self.D, self.E, self.F =[], [1, [1, [1, []1, []
for v in range(len(Sort_KnowD.index[:m])):
index2 = np.array(names["#.i%ifi5"] == Sort_KnowD.index[v])
if names.iloc[index2, 2].values == 1011010101:
self.A.append(v)
elif names.iloc[index2, 2].values == 1011010201:
self.B.append(v)
elif names.iloc[index2, 2].values == 1011010402:
self.C.append(v)
elif names.iloc[index2, 2].values == 1011010501:
self.D.append(v)
elif names.iloc[index2, 2].values == 1011010504:
self.E.append(v)
elif names.iloc[index2, 2].values == 1011010801:
self.F.append(v)
# Set boundary
self.Nbounds = np.array([[2.5, u] for u in Sort_KnowD["f K&5E"1])
self.Wbounds = np.array([[l, u] if 1 > @ else [u, 1] for 1, u in zip(@.8*(1-e)*Sort_KnowD["4<
B EE" ], 1.4%(1+e)*Sort_KnowD[ " EAMMEL"1) 1)

526.

527.
528.
529.
530.
531.
532.

# define object function
def Fx(self, x):
P = 0.0539
beta = 0.7
N, W= x[:, 0], x[:, 1]
Q1 = N * Sort_KnowD.iloc[:self.m, -4]*(1-0.01*Sort_KnowD.iloc[:self.m, -6])*(W*(1-
P)+((1+W)*beta-1)*P)
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533.
534.
535.
536.
537.
538.
539.
540.
541.
542.
543.

544,

545.
546.
547.
548.
549.
550.
551.
552.
553.
554.
555.
556.
557.
558.
559.
560.
561.

562.
563.
564.
565.
566.
567.
568.
569.
570.
571.
572.
573.
574.
575.
576.
577.
578.
579.
580.
581.
582.
583.
584.
585.
586.
587.
588.
589.
590.
591.
592.
593.
594.
595.
596.
597.
598.
5995
600.
601.
602.
603.
604.
605.
606 .
607.

Q2 = N * Sort_KnowD.iloc[:self.m, -4]1*0.01*Sort_KnowD.iloc[:self.m, -6]*((1+W)*beta-1)
return (Q1+Q2).sum()

def TranslateDNA(self, pop):

FacDNA = np.zeros((POP_SIZE, self.m, 2))

Gene_Size = GENE_SIZE / 2

for i in range(POP_SIZE):

for j in range(self.m):

Temp = pop[i, j::self.m]
Earn, Rate = Temp[0::2], Temp[1::2]
FacDNA[i, j, @] = Earn.dot(2**np.arange(Gene_Size)[::-1])/float(2**Gene_Size-

1)*(self.Nbounds[j, 1]-self.Nbounds[j, @])+self.Nbounds[j, @]

FacDNA[i, j, 1] = Rate.dot(2**np.arange(Gene_Size)[::-1])/float(2**Gene_Size-

1)*(self.Wbounds[j, 1]-self.Wbounds[j, ©])+self.Wbounds[j, 0]

return FacDNA
def Mutation(self, child, Mutation_Rate=0.003):
# Mutation with Mutation_Rate probability
if np.random.rand() < Mutation_Rate:
# Randomly generate an mutation Location
mutate_point = np.random.randint(@, GENE_SIZE)
# Inverts the binary bit of the mutation point
child[mutate_point] = child[mutate_point] ~ 1
def CrossoverMutation(self, pop, Crossover_Rate=0.8):

# Traverse each individual in the population, taking that individual as the father
for father in pop:
child = father # The child first gets all the genes of the father

# Crossover occurs with a certain probability when producing offspring
if np.random.rand() < Crossover_Rate:

# Another individual is selected in the population and that individual is taken as the
mother

mother = pop[np.random.randint(POP_SIZE)]

# Randomly generate an intersection

cross_points = np.random.randint(low=0, high=GENE_SIZE*self.m)

# The child gets the mother's genes located behind the intersection
child[cross_points:] = mother[cross_points:]

# Each child has a certain chance of mutating
self.Mutation(child, MUTATION_RATE)
np.append(pop, child)

return pop
def GetFitness(self, pop):
x = self.TranslateDNA(pop)
# IELIHRFA
pred = np.zeros((len(x[:, @, ©]), 1))
for i in range(len(x[:, 0, 0])):
if (x[i, self.A, @].sum()-134.278 > 0):
pred[i] = @
elif (x[i, self.B, ©].sum()-18.789 > 0):
pred[i] = @
elif (x[i, self.C, ©].sum()-29.257 > 0):
pred[i] = @
elif (x[i, self.D, ©].sum()-31.610 > 0):
pred[i] = ©
elif (x[i, self.E, ©].sum()-90.873 > 0):
pred[i] = ©
elif (x[i, self.F, ©].sum()-67.892 > 0):
pred[i] = ©
else:
pred[i] = self.Fx(x[i, :, :]) # Calculate objective value
return (pred - np.min(pred)) + le-3
# nature selection according to pop's fitness
def SelectPop(self, pop, fitness):
idx = np.random.choice(np.arange(POP_SIZE), size=POP_SIZE, replace=True,
p=(fitness[:, 0]) / (fitness[:, @].sum()) )
return pop[idx]
def Print_Info(self, pop, SumD):
fitness = self.GetFitness(pop)
max_fitness_index = np.argmax(fitness)
x = self.TranslateDNA(pop)
if(x[max_fitness_index, self.A, 0].sum()-134.278 <= 0):
print("<%s> i /EHNRIRGIFEAE" % Names[@])
if((x[max_fitness_index, self.B, ©].sum()-18.789) <= 0):
print("<%s> i /EHNRIRGIFEAE" % Names[1])
if (x[max_fitness_index, self.C, ©].sum()-29.257 <= 0):
print("<%s> i E4hRBRHIZEAE" % Names[2])
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639

642

660

662
663

608.
609.
610.
611.
612.
613.
614.
615.
616.
617.
618.
619.
620.
621.
622.
623.
624.
625.
626.
627.
628.
629.
630.
631.
632.
633.
634.
635.
636.
637.
638.

640.
641.

643.
644.
645.
646.
647.
648.
649.
650.
651.

652.

653.
654.

658.

659.

661.

if (x[max_fitness_index, self.D, ©].sum()-31.610 <= 0):
print("<%s> i 24 OTPREI A" % Names[3])

if (x[max_fitness_index, self.E, ©].sum()-90.873 <= 0):
print("<%s> WL HMITRRHISEAE" % Names[4])

if (x[max_fitness_index, self.F, ©].sum()-67.892 <= 0):
print("<%s> /M IRBR I Z&AE" % Names[5])

SumD[:, @] = x[max_fitness_index, :, 0]
SumD[:, 1] = x[max_fitness_index, :, 1]
obj = self.Fx(x[max_fitness_index, :, :])
print("Optimal value:", obj)

return obj

def Check_Info(self, pop):
fitness = self.GetFitness(pop)
max_fitness_index = np.argmax(fitness)
x = self.TranslateDNA(pop)

return fitness[max_fitness_index], self.Fx(x[max_fitness_index, :, :])

def GeneticAlgorithm(self, SumD):
pop = np.random.randint(2, size=(POP_SIZE, GENE_SIZE*self.m))
for i in range(N_GENERATIONS):
pop = np.array(self.CrossoverMutation(pop, CROSSOVER_RATE))
fitness = self.GetFitness(pop)
pop = self.SelectPop(pop, fitness)
self.Cresults[i, :] = self.Check_Info(pop)

self.BestPop = pop

return self.Print_Info(pop, SumD)
.# In[1067]:
.m = 30

SalesRate = np.zeros((30, 20))
PRate = np.zeros((30, 20))
0Obj = np.zeros((20, 1))
for i in range(1):
SumD = np.zeros((m, 2))
Gpredict = GENE(m, i*e.01 + 0.01)
0bj[i] = Gpredict.GeneticAlgorithm(SumD)
print ("L %d FRE G EESER, B H B RAGECRAIE Y %.3F 5t % (m, Obj[i]))
Output = pd.DataFrame({"#. h %/ ": Sort_KnowD.iloc[:m, -7].values, "#M%if&l": sumD[:, @], "%
": SumD[:, 11})
Output = Output.set_index( "t & L")
print(" 4L %d FRER BN, HEHEANMEEN: %.3F TR % (m, Output.iloc[:, @].sum()))
print("MiLH %d FHERELERSENT, <%s> FALAAMTEA: %.3F T
" % (m, Names[@], Output.iloc[Gpredict.A, @].sum()))
print("MiLH %d FhERELERSENT, <%s> FLEAMTEA: %.3f T
" % (m, Names[1], Output.iloc[Gpredict.B, @©].sum()))
print("HIER %d PR RESER, <%s> FHEAMNIER: %.3fF T
" % (m, Names[2], Output.iloc[Gpredict.C, @].sum()))
print (" MiEH %d FEE @R, <%s> HEBIMEEN: %.3F T
" % (m, Names[3], Output.iloc[Gpredict.D, @©].sum()))
print("HIER %d PR RESER, <%s> FHEAMNTER: %.3fF T
" % (m, Names[4], Output.iloc[Gpredict.E, @].sum()))
print("ZiEH %d FREEGBER, <%s> HHSFMTEN: %.3F T
" % (m, Names[5], Output.iloc[Gpredict.F, @].sum()))
. print(Output)
SalesRate[:, i] = np.array(Output.iloc[:, ©0])
. PRate[:, i] = np.array(Output.iloc[:, 1])

=

VWoONOUT A WN.

%% TEENEAE

warning off % M R
close all % RPATTA  E o
clear % I TAE

clc % HT AT

%% SNEUE CNIRLP A1 1 S A
result = readmatrix('P2data.xlsx"');
result = result(2:end,2); % 2:7
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11. %% HHEoH

12. num_samples = length(result); % FEAA%

13. kim = 10; % JERF K (kim NP7 SR EEAE N EH AR &)
14. zim = 1; % 5 zim AN [E] A HEAT T

15.

16. %% FIEHIELE

17. for i = 1: num_samples - kim - zim + 1

18 res(i, :) = [reshape(result(i: i + kim - 1), 1, kim), result(i + kim + zim - 1)];
19. end

20.

21. %% RIS IIZRAEA R A

22. temp = 1: 1: length(result)-kim;

2818

24. P_train = res(temp(1l: ceil(@.8*length(temp))), 1: kim)';
25. T_train = res(temp(1l: ceil(@.8*length(temp))), kim+1)"';

26. M = size(P_train, 2);

27.

28. P_test = res(temp(ceil(@.8*1length(temp))+1: end), 1: kim)';
29. T_test = res(temp(ceil(@.8*length(temp))+1: end), kim+1l)';
30. N = size(P_test, 2);

Silo

32. %% HEEH—

33. [p_train, ps_input] = mapminmax(P_train, @, 1);

34. p_test = mapminmax('apply', P_test, ps_input);

o

36. [t_train, ps_output] = mapminmax(T_train, 0, 1);

. t_test = mapminmax('apply', T_test, ps_output);

. %% DU AR Y
. p_train = p_train'; p_test = p_test';
. t_train = t_train'; t_test = t_test’;

. %% GBDT A L4 T h HEp

L% WESH

. MaxDepth = 7; % & KWHIRRE

. maxgen = 300; % IEAIKEL/ 55K
. alpha = 0.5; % mAK¥IRE

. % WIIRILTS KA

. Md1l{maxgen} = [];

. Md1{1} = fitrtree(p_train,t_train, '"MaxNumSplits',MaxDepth);
. predictionl(:,1) = predict(Md1l{1},p_train);
. prediction2(:,1) = predict(Md1l{1},p_test);
.rou = 0.1; % WA HE

. predictionl(:,1) = predictionl(:,1)*rou’;

. prediction2(:,1) = prediction2(:,1)*rou’;

. yhat(:,1) = t_train-predictioni(:,1);

. Loss = zeros(1,maxgen);

. Loss(1) = sum(yhat(:,1).72)/2;

60. for i = 2:maxgen

61. Md1{i} = fitrtree(p_train,yhat(:,i-1), '"MaxNumSplits',MaxDepth);
62. predictionl(:,i) = predict(Md1{i},p_train);
63. prediction2(:,i) = predict(Md1l{i},p_test);
64. cnt = 1;

65. Loss(i) = sum((t_train-predictionl*[rou,alpha]').”2)/2;
66. temp2 = alpha;

67. for j = 0:0.001:alpha

68. templ = predictionl*[rou,j]’;

69. if sum((t_train-templ).”2)<Loss(i)

70. Loss(i) = sum((t_train-templ).”2)/2;
71. temp2 = j;

72. end

73. end

74. % predictionl(:,i) = temp2*predictionl(:,i);
75. % prediction2(:,i) = temp2*prediction2(:,i);
76. rou = [rou,temp2];

77. yhat(:,i) = t_train-predictionl*rou’;

78. end

79.

80. %% i EIIK

. t_siml = predictionl*rou’;
. t_sim2 = prediction2*rou’;
. k=7;

. for i = 1:k

prediction = zeros(1,maxgen);
templ = result(end-kim+l:end);
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87. temp2 = mapminmax('apply',templ,ps_input);

88. for j = 1:maxgen

89. prediction(j) = predict(Mdl{j},temp2');

90. % prediction(j) = prediction(j)*rou(j);

91. end

92. temp3 = prediction*rou’;

93. result = [result;mapminmax('reverse',temp3,ps_output)];
94. end

95. figure

96. plot(1:1085,result(1:1085), 'b-")

97. hold on

98. plot(1086:1092,result(1086:1092), 'r-")

99. result(1086:1092)

100. %% HHE A1k

101. T_siml = mapminmax('reverse', t_siml, ps_output);
102. T_sim2 = mapminmax('reverse', t_sim2, ps_output);

104. T_siml = T_siml';
105. T_sim2 = T_sim2';
106.

107. %% BT RE

108. errorl = sqrt(sum((T_siml - T_train).”2) ./ M);
109. error2 = sqrt(sum((T_sim2 - T_test ).”2) ./ N);
110.

111. %% %K

112. figure

113. plot(1: M, T_train, 'r-*', 1: M, T_siml, 'b-o', 'LineWidth', 1)
114. legend (' BLSAE ", " PN ")

115. xlabel (' FMAFEA")

116. ylabel (' TRIM&EH ")

117. string = {'IZREMMLEFXFLL 5 ['RMSE=" num2str(errorl)]};
118. title(string)

119. x1im([1, M])

120. grid

121.

122. figure

123. plot(1: N, T_test, 'r-*', 1: N, T_sim2, 'b-o', 'LineWidth', 1)
124. legend (' HSEME", ' TMAE ")

125. xlabel (' FiIMAEA ")

126. ylabel (' FilllZ5H ")

127. string = {"MRSETMSE BXFEL ' ;[ ' RMSE=" num2str(error2)]};
128. title(string)

129. x1im([1, N])

130. grid

131.

132. %% AHRIEIRT

133.% R2

134.R1 = corrcoef(T_train,T_siml);

135. R2 = corrcoef(T_test,T_sim2);

136.

137. disp([ " VIZEHIERKIR2 . ', num2str(R1(2))])
138. disp([ ' MREHIENI R2 J: ', num2str(R2(2))])
139.

140. % MAE

141. mael = mae(T_train,T_siml);

142. mae2 = mae(T_test,T_sim2);

143.

144, disp ([ "R MAE H: ', num2str(mael)])
145. disp([ ' MHASEEHE ) MAE N: ', num2str(mae2)])
146.

147.% MSE

148. msel = mse(T_train,T_siml);

149. mse2 = mse(T_test,T_sim2);

150.

151. disp ([ IIZEEFEM MSE A: ', num2str(msel)])
152. disp([ " MASEHIEI MSE N: ', num2str(mse2)])
153.

154. % RMSE

155. rmsel = sqrt(sum((T_siml-T_train).”2/M));

156. rmse2 = sqrt(sum((T_sim2-T_test).”2/N));

157.

158. disp([ ' IMZHEEHEK) RMSE A: ', num2str(rmsel)])
159. disp([ ' MREHIE K RMSE N: ', num2str(rmse2)])
160.

161.% SSR

162. ssrl = sum((T_siml-mean(T_train)).”2);

163. ssr2 = sum((T_sim2-mean(T_test)).”2);
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167

164.
165.
166.

% SST
sstl = sum((T_train-mean(T_train)).”2);

.sst2 = sum((T_test-mean(T_test)).”2);
168.
169.
170.
171.
172.
173.

% R2
R1 = ssrl/sstil;
R2 = ssr2/sst2;

disp(['ZRELIEM RA2 A: ', num2str(R1)])

[174. disp([ PRAEHURE RA2 A9: ', num2str(R2)])
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